Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.
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2) 41x55=

’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ .
’ ’
’ 7
’ ’ e
’ ’ ,
’ ’ ,
’ ’ ,
’ ’ ,
’
, ’
’
4 ’
4 ’
2
’ e
’
, ’
. ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ .
’ ’
’ 7
’ ’ e
’ ’ ,
’ . ,
’ 4 .
’ ’ .
.
’
’ ’
4 .
’ ’
3
, 7
, ’
, ’
. ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ,
’ ’
’ 7
’ ’ e
’ ’ ,
’ . ,
’ ’ ,
’ ’ ,
.
’
4 ’
’ .
’ ’
2
, 7
’
4 ’
’
. ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ ’
’ .
’ ’
’ 7
’ ’ e
’ ’ ,
’ . ,
’ ’ ,
’ ’
, ’
’
4 ’
’
, .
’
2
, 7
’
4 ’
’

3)

6)

9)

35x39=
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Answers
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ﬂh Lattice 2 by 2 Name. Answer Key

Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
3Hx1l= 41 x 55 = 3Hx39= N 385
3 5 4 1 3 5
To .~ To .~ “T1
O,I,/ ,/,/ 1 2,,,/ I’,/ 5 O/,’, ,/// 3 2 2,255
ol 38~ S 5|0 S 195
0 0 > 0 > p 3 1,365
S 3 L, . 1 e 0 0 c 5 J S . S 5 9
° 2k L 3 . 4466
8 5 5 , 5 6 5
5. 3,162
4) _ 5) _ 6) _
77 x 58 = 62 x 51 = 68 x 18 = . 1,224
7 7 6 2 6 8
T3 - “T1 To -
R S0 s 0.2 e | 1320
47 5|7 3 37070 16| 8
5 |5 Ao o 7 a4 Te | |es __3510
s 6 e 6 8 P //' 6 L’ 2 1 L L’ 8 - 4 8
4 1.7 2
- o 0. 2,945
6 6 6 7 2 2 4
10. 3,818
7) - 8) _ 9) _
60 x 32 = 39x90= 31 x 95 = " 3,481
6 0 3 9 3 1
0 8 o .~
1 3 2 /,' ,’, 9 2 o] 12. 2,232
1 8 0 3 7 ,,’ 1 2 7 9
1 0 o .70 1 0
2 S R 0 5
9 2 0 5 0 0 9 5 5
2 0 1,70 4 5
10) s5x83= 1) 59xs50-= 12) s6x62-=
4 6 5 9 3 6
4 4 3
3 8 2077 s 1 6
3 2 8 3 5 ] 7 S 2 8 6
1 1 4 7|8 0 1
3 |9 2
8 2 8 4 /,' 5 1 2 6 2
1 8 8 1 3 2

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-12( 8 | 0




	Worksheet
	Answer Key

